d |
outdoor living

12'x18' HARDTOP GAZEBO
WITH DOUBLE ROOF

ASSEMBLY MANUAL

// DRNNRNRRY \

n&/ ﬂ

Missing part?Damaged?Contact us via email at










1 1 111

V1 & V2 &2 V3 & Va4 &2 V & V5 &D  VB&ED

Aﬂﬂﬂﬂm ﬂﬂﬂ“]]]%

WIgD W2&@ W3 WA W5 W& W7 & W8&ED

[T THIT

a dl b 1.

X1T@ X2@ X3@ X4& X5 X6@ X7T@@ X8E X9 X10&D) X11& X12&D

st Y@ 5 :"'_\:(:1 @ = | Yb@® | = L | = .
i i I it i e - -
: : : : LTI A 71E&D L 736
Z &7 Nawmwave <~ 22&3 7 Z4&®
| I M6x16 N
| D~ Mex20 o
{ m e
4#
x144

M6x28 o

) —) ) M6x45 e

1 —)))1)) M6x50 "

8#
fmm  wsx16 6
o#
(> ST4.8x13 x28
| [T M6x25 o
~ 11#
| m @) MBx10 x16

 « A v @ x1 DR S ¢ >







_—— C2 KD _—D2 D

I

T 7
—c®@ I —Db @

—= C1Q =

@ I Mexts g,




=
7 > E2a E2b &2
= 7C &2
f {E@
C1&2
Ela @@ E1b &
D3 &2
. ; T - 1#
E == — 1 @ (D Mex16 g
D1 &
D - E o _ C
d = D o =




2#
@'I)))))))))))))))) M6x20 %28

| I i?e

=~

- 3#




e | s B Jmm  vexte 5,




o#
'una;_ LT fm wsae So QI sTasas Sae T (@




7

X

4#

4#
X7

N

7

#
X

4

4#
X7




K&D M &D N2 X2

. . P
: . e jmm

P &2 Qg@ R &®




Q3 &2

Y .

@

1

P

N &

11#
x16

.
o8

1#
x26

} [T

N1 Gd




: <
K1&)
@)l)))))))))l)))))) 14;
5 _ ) V
] o]/ X
| A
/ 5 7
NE ; 7
| 5 )¢
/. \.‘ l.l \ o
ol |l L
K1
/
/







L2 %,
RG&D R1 @

@ ) 2@

R1
R V6 V5 . vV \ v V4 .V3

\ vz

A/?

» s [ B\

V5 Ve
NN

V3 V4 V

Vi V2

////_\,

4

e e —— 3

\\VE' v :—__—__—-‘l:—/ NX o/ T2

_ '/ T1/ R1 T#
R _ $ 7

Z&t:




1#
x32

D)

L

U1 &
= UZ@
U3 &

U7&

» U4 D










Z Y, 4

Connect roof as below :,"
/




- | —mm ) %, ) —))) o
] — 4 i—mm %

I mlw/y'/
“Iix

1

SRR
N

£ /) \‘\ A\ \
— 27 0 4 / _\ \\
——_ g //? // 7 PR \\ A\ X \\
AN % AR
& /7% RN \)
N v/ D IA P SO \ N2
Y, 7 405 WOOAN NN
2> 4 04 %/, \‘\\‘\ \ \ \\ \\\\ >
¢ /) /, ANNNNM
\\ /// 7 7/ / / \\ \\\ \\\ »
\/ / 7, \
N/ AN
/ 74 N 4&

\
\\ W

(3

X/ N\ \
\\\/, 4 N\ \
y, 4 \ \>F
K\/ g V4 \ ~//
\\\ / N N\ 4
\\\//4 N
\ N /
N

# @

%@«s

#




i Yb &0

——

o—_—t——

,é;;;ﬁ%;g-w

Ya

Ya

4

/\Z
S ENNNANNNNNENNAEREREEE
T

Y1

Ya

S

[




7

L
| \_mj

Y1/Y || ‘
‘ L |

H |
Ya/Y1a i

Y/Y1
Ya/Y1a




domi

outdoor living

RESORT COMFORT IN YONR
OWN BACKYARD

Thanks for your purchase.

At domi outdoor living, we believe in our products.
That’s why we provide a 12-month warranty and
friendly, easy-to-reach after-sales service.So if you
have any questions about our product and assembly-

,please feel free to contact us.We will be here for you.

Support: @

email:

Please tell us your order ID when contact.

Attach photos of damaged part for instant reply.

© Copyright




